DCEB - VIZIANAGARAM
Self-Evaluation and Learning for Future (SELF)

DAILY TEST -7
SOCIAL STUDIES — 10*" Class

Topics: Lesson- 10,11,12, 21, 22

I. Answer the following questions. 4x1=4M
1. Consider the following statements.
I. Arab Spring is the political impact of globalisation.
ii.  Arab Spring is a book.
Which of the above statement is correct.
A. (i) Only B. (ii) only C. Both (i) and (ii) D. None of the these
2. Arrange the following cities based on its location from East to West.
Thiruvananthapuram, Chennai, Imphal, Hyderabad
3. Based on the relationship between the information in the first pair, complete the second pair.
Rural Areas : 2400 kilocalories :: Urban Areas : ?
4. When was Right to Information act passed?

Il.  Answer the following questions. 2X2=4M
5. What is information?

6. Write the factors influenced on globalisation?
1. Answer the following question. 1x4=4M

7. Read the following pyramid graph and comment on it.
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illion households

Aspirers (income between

Rs 1.5 to Rs3 4 lakh Graph-1 : Distribution of

households in India
based on annual income

(2010 survey)
Deprived (income below
Rs1.5 lakhs
IV.  Answer the following question. 1x8=8M

8. What are the basic features of social movements?
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